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Z B B BEZ 317 39 16 8 68 AE VU mE2AL 6
241 E#E F— 39 35 14 0 14 AE YV mE
34 Bl X 40 | 37 | 71 2 5 | AE yoE3Mu
YA HME HE 42 40 82 1 75 AE

5fL ME BEZHER 45 40 85 9 16 AE

6431 BER & 45 42 87 11 16 AE

Ik ®E EE 40 40 80 4 16 AE

841 =i BE 40 41 81 5 16 AE

9L EB =i 44 40 84 1 11 AE
1043z g2l H*E 45 43 88 11 11 AE

1142 kiE Bh 43 43 86 9 11 AE

1241 PR ER 42 42 84 7 11 AE

13431 ME EX 42 | 44 | 86 9 77 AE
1441 F-N 39 44 83 6 11 AE
154 =% = 47 40 87 9 18 AE
164z n#E &3 44 42 86 8 18 AE
1742 &l KkEE 44 44 88 10 18 AE
1843z B2E BE 44 46 90 12 18 AE

1942 WA T 49 40 89 10 79

204z =% It 44 43 87 8 19

2141 nE & 42 43 85 6 19

2241 K& KA 46 37 83 3 80

2341 A% F= 49 43 92 12 80

2441 HIEE FEth 46 42 88 8 80

2541 RER ==Xk 42 40 82 2 80

2641 xF Hh 46 46 92 12 80

2741 i AE 42 43 85 5 80

28431 g F 48 | 39 | 87 6 81

2941 FEE FE 46 41 87 6 81

304:L AR FH 47 | 43 | 90 9 81

3141 % E{ 46 43 89 8 81

3241 =25 EFAK 45 43 88 1 81

3341 N NI 47 46 93 12 81

344 BR FEAE 45 | 47 | 92 11 81

3541 KF*F BAKER 42 44 86 5 81

364:L =2 43 | 46 | 89 8 81

3741 y =31 48 38 86 4 82

3841 SH  FEi 90 41 91 9 82

3941 Bk E—H 49 43 92 10 82

404z AR sk 46 40 86 4 82

P-1 VY FILUXBRRAETIL T




FMIAY 5 X (HDCP 0~12)

20256 £ 4 A 8 B (KN

XAk FFHDCP
EZ: T#) I+) IOASAEHRERNHY FF GHRHLT)

BEIEG: FivxyFT - h— FAX UGN

=t BEA #aoUT| PHIN | GROSS| HDGP NET ZEF NTHRTE
4141 M-H 48 43 91 9 82
4241 RNl E— 46 42 88 6 82
4311 Cicp 1V 73 46 43 89 1 82
4441 WA = 47 45 92 10 82
454 FE me 43 44 87 5 82
4641 HFAR RE 46 48 94 12 82
4741 BA Ei% 42 49 91 9 82
4841 RE F&E 47 42 89 6 83
4941 ® BUYE 47 43 90 1 83
504z iR WE 48 45 93 10 83
5141 55 BT 44 43 87 4 83
524 KB FBE®E 49 44 93 9 84
534 EZE 13 47 42 89 5 84
5441 BARE B 48 47 95 1 84
554 il B 44 44 88 4 84
56131 H-0 46 48 94 10 84
S5T4L H5H 44 48 92 8 84
584 FE R 44 48 92 8 84
594 ME =R 44 41 85 0 85
604z N 49 46 95 10 85
614 =l X 46 50 96 11 85
624 me EX 46 51 97 12 85
634 ki —& 49 46 95 9 86
6441 fEiE Hah 49 47 96 10 86
654 HE A= 47 51 98 12 86
664 INR E 45 52 97 1 86
674 & BX 53 46 99 12 87
684 IR R 51 48 99 12 87
694 B8 R 50 49 99 12 87
704z Fii: % NI 3 48 | 48 | 96 9 87
JAR D Y-F 53 47 100 12 88
12431 e EFE 51 49 | 100 12 88
134 A & 50 50 100 12 88
1441 %EE xB 49 49 98 10 88
1541 Heh 7 44 48 92 4 88
164% B A& 54 | 45 | 99 10 89
1141 PrE R 51 44 95 6 89
1841 =m R b1 48 99 10 89
194 WA E=X 49 47 96 1 89
804 T BAX 48 52 100 1 89
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814 INE ESN 48 53 101 12 89

824 sl ER 51 42 93 3 90

834 [R5 52 50 102 12 90

8441 N EfE 51 46 97 6 91

8541 He & 47 49 96 5 91

8641 Ik B 50 51 | 101 9 92

874 H-K b4 50 104 1 93

884 EHB E 50 56 106 12 94

894 HH &7 b5 b1 106 1 95

904sz Y-S 49 58 107 10 97

914z My EX b8 54 112 10 102
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